MaTH 103 ExaM #4 KEY (SPRING 2012)
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1d. 3v75+ 13V48 =3 -5v3 + 13- 4/3 = 15v/3 + 52/3 = 67V/3
2. 2V3+Vv2)(2v3—-v2)=2v3-2/3-2V3-V2+V2:-2V3-V2-V2=12-2=10.
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4a. (VI—2)’=(2+3)? = 9-z=2462+9 = 2°+7x=0 = z(z+7)=0 =
x =0,—7. But —7 is an extraneous solution, so the solution set is {0}.

4b. Cube both sides to get 2z — 1 = z — 11, so z = —10. Solution set is {—10}.
5a. (9—10i) — (5+3i) =9 —10i — 5 — 3i =4 — 13
5b. 3i(4+Ti) = 12i + 212 = —21 + 12
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6a. Write as 22 — 22 — 4 =0, so
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6b. Write as 922 — 62 4+ 7 = 0, so
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7. Not a function. Domain is [—3, 3] and range is [—4, 4].

8. Is a function. Domain is {z : 40 +2 >0} = {x: 2 > —1/2} = [-1/2,0).

9. f(—3)=3(-3)—1=—10and g(—3) = (=3)2+5(=3) =9 — 15 = —6.



